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5cm 50c¢m 100cm
D ith Ak — 0.06 — PA-1000
12/7(A) BN @il — 0.05 — PA-1000
Q@BYERYA — 0.05 — PA-1000
DEhith Ak — 0.06 — PA-1000
6/3(K)BEN @it iy — 0.04 — PA-1000
R@BYERYA — 0.04 — PA-1000
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BIE B - X% HITE Hh = HITE 27 e
5cm 50c¢m 100¢cm
@it AL 48l — 0.07 — PA-1000
12/6 (&) BN Q@&hh — 0.04 — PA-1000
QB/YERYNO — 0.04 — PA-1000
Dttt 48 — 0.04 — PA-1000
6/6 (KR)EEN Qg — 0.06 — PA-1000
QB/YERYNO — 0.04 — PA-1000
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D ith Ak — 0.08 — PA-1000

12/10(B) 2Y @il — 0.07 — PA-1000

Q@BYERYA — 0.04 — PA-1000

DEhith Ak — 0.07 — PA-1000

6/6(7K)EY Q@D — 0.04 — PA-1000

R@BYERYA — 0.05 — PA-1000
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5cm 50c¢m 100¢cm

@it AL 48l — 0.07 — PA-1000

12/6 (K)EENL @ghth iy — 0.05 — PA-1000

QB/YERYNO — 0.04 — PA-1000

Dt AL — 0.08 — PA-1000

6/6 (X)) BEN Qe — 0.05 — PA-1000
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3/8 (BR26)



EXI4E

Il —

55

NEICHE T HMSHRERERR

P 7E b : 1R 800-5441%

k284 BE
AIE B - Xf& BITE #h AR (Y A5R>— AL BE) BIERR -
5cm 50c¢m 100cm
D ith Ak — 0.08 — PA-1000
12/7(Q) Y @il — 0.04 — PA-1000
Q@BYERYA — 0.04 — PA-1000
DEhith Ak — 0.08 — PA-1000
6/6(A)EY Q@D — 0.04 — PA-1000
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12/3(R)EY Q@ rhily — 0.06 — PA-1000
QB/YERYNO — 0.06 — PA-1000
Dt AL — 0.09 — PA-1000
6/5(&)EN Qe — 0.04 — PA-1000
Q@B/YERYAO — 0.05 — PA-1000
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5cm 50c¢m 100cm
Dttt Al — 0.10 — PA-1000
3/5(K)HEN @il — 0.04 — PA-1000
QBYEFRYO — 0.04 — PA-1000
Dttt Al — 0.10 — PA-1000
12/5(&)EN @it iy — 0.05 — PA-1000
QEYERYO — 0.05 — PA-1000
@) ¢::BlRL — 0.10 — PA-1000
9/5(&)EN @&ty — 0.04 — PA-1000
QBYERYO — 0.04 — PA-1000
Dtk 8l — 0.11 — PA-1000
6./5(K)EY @t iy — 0.05 — PA-1000
QE/YERYO — 0.05 — PA-1000
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) ¢: B4 — 0.12 — PA-1000
374K EN @ghth iy — 0.05 — PA-1000
Q@EYERYO — 0.05 — PA-1000
264 gttt Al — 0.11 — PA-1000
1.7 B @it ehily — 0.05 — PA-1000
QEYERYO — 0.05 — PA-1000
Dttt Al — 0.11 — PA-1000
11./5CK) BN Q@i — 0.04 — PA-1000
Q@EBYERYO — 0.05 — PA-1000
) ¢: B4 — 0.11 — PA-1000
Qi by — 0.04 — PA-1000
o 2(B)ER @f’i%tﬂa%t)l:l — 0.04 — PA-1000
A5 THYHEET — 011 — PA-1000 BERE R E (RAFETFIH D a5 B S5 FF)
BN F — 0.06 — PA-1000 ”
O~ F — 005 — PA-1000 ”
©O):¢: B4 — 0.12 — PA-1000
7/2(R)EN Qi by — 0.04 — PA-1000
QEYERYO — 0.05 — PA-1000
Ot A a1 — 0.10 — PA-1000
5/150K) R @ity — 0.04 — PA-1000
Q@BYERYO — 0.04 — PA-1000
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soag) gy |[DBMPDLE (T RHE) — 0. 11 — PA-1000
Qe B4 (5 ANEHEE) — 0. 05 — PA-1000
DEgth &R (4 RN EHE) — 0. 08 — PA-1000
2/4 s
74(R) B Qe B4 (5 ANEHEE) — 0. 06 — PA-1000
k254 DEgth &R (4 RN EHE) — 0. 14 — PA-1000
1/78(K) BN | QB (¥R _ 0. 06 — PA—1000
- ®%ﬂzi1ﬂ=l::uf‘rs(9xt~£ﬁ — 0.13 — PA-1000
12/4(K) £
740 ZY Qs Bt (X A NghEE — 0. 10 — PA-1000
®;’éﬂzi1ﬂq::uﬁr5(9;<i~fﬁ — 0. 14 — PA-1000
1.7 i -

k) B Qs Bt (X A NEhLE) — 0. 06 — PA-1000
10.720:K) BEN | DL ER (4 A REHE) — 0.17 — PA-1000
9/4(K) BN | DBhdLER (5 AREHE) — 0.16 — PA-1000
8.2(K) MENn | OFuihehiER (4 AL — 0.17 — PA-1000
7730K) B | Outhd b ER (4 ANEHE) — 0.17 — PA-1000
6./8(&) Bh | DBhdLER (5 AEHE) — 0.17 — PA-1000
5/8(K) BN | Qg iLER (F ANEHE) — 0. 20 — PA-1000
412(K) BEh | Ot i ER (4 ARHEE) — 0. 20 — PA-1000
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